ohg

ofx
©
(o]
T
e
Mo
D

@© 5 9] Hj$o] el
@ 15 Bt} £ 14 9] oF4-0] ¢l

@ 10 i\;}- = ,g/\_,] El_O]



A A= {klk<12, k=39 v} & 9add s YehfH?

® A=13,6) @ A=1{3,6,9)
® A=1{3,6,9,12} @ A=1{3,6,9,10,12}

® A=1{3,6,9,10,11}



3.

R i

52

rlo

7—]_8_?

A

@ ANB=BNA

® Ano—o
® (AOB)CB

@ AcBOo|"MAUB=RB
G BcAOHW ANB=A



={1,2,3,4,5,6,7) ] & REAY
~ (25,6, 4B =0 aH
@ {2,5’6,7}
® {1.2.5.6.7)



= 15} _ — g g o
FATA=(12.8= x| Sxxdri)elmeola- b=
&, 44 ao) ghel Wl

D a<?2 @ a<3 ® a<3

@ 0<a<? B 0<a<?



= A A = {xx= 20E T 2H2 49] v, {1, a, 2+a, 8, Sa}
oA AnB=1{4, 8, 16} & W,AUB%?(L, E‘Z]'L.T IT})

@D (1, 2, 4, 8, 16}

@ (1, 2, 4, 8, 12, 16 }

® {1, 2, 4, 8, 12, 16, 20}
@ (1, 2, 4, 8, 12, 16, 32}

® {1, 2, 4, 8, 12, 16, 24, 32}



Ak A, Bl thste 541 (An

B)U(ANBY) = U

A, BAol9] PHAE A 7 LErd 2129

@ AnB=B ® A-B=0

® ANB=0



A = {xlx= 89 oF5}, B = {xlxi= 50]5F9] &4}

D 270 @ 47 3 674 @ 870

® 1070




of ehst
87 e 2

20 =(P|PcA) 2 A} A =(1,2,4) & o,
7

O
oo ot
O{N B

rlo ||

r)

O oe2 @ oc2t ® (@)e24

@ {(plcoA ® Ae2



10. oJo) &= ot X, vol tiste], A4t A& XaY = (XUY) N (X UY)
2 Aojgtt10lA 3071212 A4 F 29] v, 39] v, 59 v
S 2R A, B, €2 W, (AaB)aC O] YA40] /H4-E FoHH?

@D 1070 ® 1370 3 1570 @ 1770 3 1970



